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74.  fo(z)=n2z(1—-2)" (0<z<1)00000000000

n—00

(1) {fu(x)}000O (2) {fn(x)}0 [0,])]D000O0OCOO? (3) lim | fn(x)dx

75. OO00OOO0D fo(z)0 I0000{fa(x)}0 /0000000000 O00OO"
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1+ (x —n)?’

(3) falz) =nPwe™™", I=(=00,00) (p>0)  (4) ful®)=na(l—2)" I=0,1]

(1) fn(x) =na", I = [070‘] (0 <a< 1) (2) fn(z) - I= (7005 OO)

76. 00000000 I000000O0O0OOOOO?2
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1 nx - —nr
(1) ;m I = (—00,00) Zme L I=[0,1 (3 ;ne , T=(0,00)
Za cos(b"rzx), I =(—00,00) (Ja|<1,beR) n=1m, = (—00,00) (p>2)
X sinnx - °° 2 sy 2 cosnT
77. f(x)fT;lTDDDD(l) fle)OQoQ, / flx)de = p3 1(2m 1)4, (3)f(x)fn2::1 3
oooooo?

1 2 3 4 5 6 1 2 3 4 5 6
78. o= , T = agood
34 2 1 6 5 5 3 4 1 6 2
cr UO0O0O0ODOOO0O0O0OOODOe,rO00000O0OO
or, o 10O O0O0O

00000000+ '000000000
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1 1 111
1 01 0 1 11 1
1 11 0 1 1 1 1 12222
1 2 3 1 2 3 3 3
() 1 2 2 2 @) 1 -2 1 2 ®)
1 2 3 4 4
1 2 3 4 1 2 3
1 2 3 4 5
1 1 1 1 1 a a* 0 1 a a® a®+bed
a T a a 0 1 a a2 1 b v b +acd
(4) B) |, (6) s 3
b b x b a 0 1 a 1 ¢ ¢ ¢ +abd
c ¢ ¢ = a a> 0 1 1 d d&% d3+abc

lDpooooo0o (1),(3)p<1000. hint: 00000000000 0OO
200000000 (1), (4), (5).

3hint: (1) 0000 p.14100 90000, (2) 000 10(2)0000 (3)000 11(2)0000000000000000000
000 Weierstrass 0 M-OOOOOOO
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80.

2 + y+4z= -1
3 +2y+ 2= 7
dr + 3y +22= 7

(1)

x -1 0 0 0
0 T -1 0 0
0 0 x
: -1 0

0 0 0 r —1
anp Ap—-1 Qp-2 °°° aj ap
1+ a2 T 0

x 1+ a2 T

0 x 1+ 22

: T

0 0

(2)

1+ a2

xT

ob100000b00b000b00b00o0ooobon
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T

1+ 22

z+ y+22=3
r+2y+3z2=4
z+ 3y + 52 =3
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